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Sales Tax and Discounts

A shirt costs $19.95 but is on sale at 25% off.

Find the sale price.

Date

Step 1: Set up an equation.

Discount = Discount Rate X Original Price
Discount = 0.25 X $19.95
Discount = $4.9875

Step 2: Round to the nearest penny.

$4.9875 is about $4.99.

Step 3: Subtract the discount from the
original price to get the sale price.

$1995 — $4.99 = $14.96
price — discount = sale price

The sales tax rate is 4.5%.

Find the sales tax amount. Then find the total cost of the shirt.

Step 1: Use an equation to calculate the
sales tax amount.

Sales tax = Tax rate X Price
Sales tax = 0.045 X $14.96
Sales tax = $0.6732

Step 2: Round to the nearest penny.

$0.6732 is about $0.67.

Step 3: Add the sales tax onto the price.

$14.96 + $0.67
sale price +  sales tax

$15.63
total cost

Find each sale price or total cost with sales tax. Round your answer to the nearest cent.

1. 20% off $12.80

2. 45% off $200.00 3. 10% off $52.75

4. $6.50 and 5% tax

5. $34.50 and 6% tax

6. $13.00 and 4.5% tax

7. 25% off $63.50

8. $19.99 and 4.5% tax

9. 50% off $55.00

10. $24.95 and 5.5% tax

11. $7.25 and 6% tax

12. 7.5% off $40.00
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Sales Tax and Discounts

Use the table to solve Problems 1-5.

Date

State Sales Tax Rates

State Sales Tax
Louisiana 9%
North Dakota 5%
Tennessee 8.25%

. If you lived in North Dakota and wanted to
buy an electronic game that is advertised
for $38, how much would you pay?

Show Your Work

. How much more would you pay for the
same $38 game if you lived in Louisiana?

. Shelly is shopping in Tennessee. She has
3 items in her cart: a building set for $21,
a stuffed crocodile for $14, and a board
game for $9. She estimates her total with
sales tax will be about $53. Do you agree
with her estimate? Why or why not?

. Roland is shopping in North Dakota. He
buys a chemistry set priced at $27 and
in-line skates that cost $60. The store
is having a 10% off sale today. What is
Roland’s final bill?

. Riley has a coupon for 15% off any pur-
chase at any Wheebee Toys store. Riley lives
in Louisiana, but he’s going to visit his uncle
in Tennessee. Riley wants to buy a game
console that costs $240. Where do you
think he should buy it?
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